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Prove:

Prove:

Prove:

Prove:

Thsy

19. Given:

20. Given:

B 21. Given:

22. Given:

23. Using the figure below, write a complete proof of Theorem 4-9.
(Hint: Prove ATOR = ASRQ.)

Rhombus ABCD
VA ~— =)
Rhombus ABCD;
EFllaC

EF | DB
Rectangle QRST;

LITRKST

AQSK is 1s0s.
Rectangle QRST;
[TRKST; [7JQST
JT=KS J 0 R K

S

proof.

In the figure, m / VOZ = 90.

diagonal bisects an angle. Does that quadrilateral have to be special in
other ways? If so, write a proof. If not, draw a convincing figure. |
b. Repeat part (a) with stronger conditions: It is known that two sides are
parallel and that one diagonal bisects two angles of the quadrilateral.

30. Draw a regular pentagon ABCDE. Let X be the intersection of AC and
BD. What special kind of quadrilateral is AXDE? Write a paragraph

172 / Chapter 4

Ex. 23 Ex. 24

24. Using the figure above, write a complete proof of Theorem 4-11 for one
diagonal of the rhombus. (Note that a proof for the other diagonal would
be similar, step-by-step.)

25. Prove: If the diagonals of a parallelogram are perpendicular, then the
parallelogram is a rhombus. :
26. Prove: If the diagonals of a parallelogram are congruent, the: ihie parallel-

ogram is a_rectangle.

OW is an altitude of AVOZ. X114\ 4
OX bisects £ VOZ. / I 0 \
0Y is a median of A VOZ. ) | \
Find the measures of the four numbered angles. I 1A 2N -
Vv W XLY { zZ
T ML Z = 30 ' 28. m/Z =k
C 29. a. It is known that two sides of a quadrilateral are parallel and that one / :
|




